DU C 24-25 MCQ

Answer Script
72 Questions - 45 Minutes
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1. YL (A Ty IO Fara1? (Which of the following sources of capital bears the highest cost?)

o 25310 Ye14= (Equity Capital) () 513 et (Bank Loan)

(3D ey 14+ (Debt Capital) @) wratfEra oraa (Preference Share)

2. e @I Jferarentad Sowas 79? (Which of the following is an instrument of capital market?)

© Guifz &= (Treasury Bill) Q) ety @rse s=w (Negotiable Certificate of
Deposit)

() Geonfa 7 Treasury Bond ®) 9je15zew 5% (Repurchase Agreement)

3. [tea @ Fgersil sdiweag 8% 79? (Which of the following is not a source of short term financing?)

@ afafens @ (Commercial paper) ) ety e (Bills payable)

© e (Debenture) (@) &= aB1eat (Bills Discounted)

4. [l SR I 3355 941 2¥: (Zero coupon bond is issued :)

@ ufsfze 3t (at face value.) © =151ts (at discount.)

Q) f=ItE (at premium.) ) gy (at market value)

5. N9 (@1 safore ofiare si¥eQteg Iow+ ¥&1 [H4ias S 29? (Which method determines the present values of
future cash flows?)

© A1 3IFae (Discounting) Q) iﬂﬂﬁﬁﬁﬁ (Capitalization)

Q) S3RIG (Annuity) @ b@qa (Compounding)

6. (I CFLa A0 &g &A= F4l (Ao 2ATF? (K=518= I5%) (Under what circumstance, a project can be accepted?
(K= Cost of Capital))

@ IRR > K @) IRR > NPV

@D IRR > 0 @ IRR > 1

7. (T 1T o3 &4 $e5? (Which is the main source of bank fund?)

@ sifarnfere Y74« (Paid up capital) Q e (Deposit)

(*) wf3es wafaet (Reserved fund) (&) e F51CEFT A (Borrowing from central bank)
8. Mtoa (@b VW (1975 ATed wietel 73? (Which of the following is a not negotiable instrument?)

@ 712 ©Iwo (Bank Draft) @?mﬁ?ﬁ @6 (Bank Note)

() fafasrs &= (Bill of Exchange) (® eifswarsra (Promissory Note)

9. AR T IS afvtens gty Fsa @90 <92 F@? (Which financial instrument is commonly
used by banks in Bangladesh to facilitate foreign trade?)

@ afswarorg (Promissory Note) @ (Gonfa 7 Treasury Bond)

Q) oo (Letter of Credit) ® zffens rerer (Commercial Paper)

10. T3 (@6 29T i @ Wm? (Which of the following is prohibited in Islamic banking?)

(@ 335 RfAcarst (Equity investment) ®) st wisirel 5@ (Profit-sharing contracts)
Q A (A (Speculative transactions) @ fifee 5f&s (Leasing Agreements)

11. [Heoa @0 Fr @ WR_AE g Ao QA TeiiRe FA19 G5 ARATA* FICEF 96 Smsisi? (Which of the following
is an initiative by Bangladesh Bank to encourage small and medium enterprise financing?)

© A=eS3= &5y (Refinance scheme) <) Feif O3 ©=fdel (Export development fund)
(D ¥ wet 9$F (Agricultural loan subsidy) ®) sger woea 27 (Green transformation fund)




2. dfqaze o= Nt @9 SoAmitag So-89miw? (Which of the following is the sub-element of
'Transportation'?

@ 9jer5 (Product) < &3 (Price)

© == (Place) ® e+i1@ (Promotion)

3. PERT &4 959 {? What is the full form of PERT?

< Program Evaluiation Review Technique <) Program Evaluiation Result Test
Q) Program Evaluiation Result Technique ® Program Evaluiation Review Test

4. SUINSTOHFA (FH 4739 SATS ¥ Fa? (Which type of utility is created by warehousing?)

(@ ot (Form) @) gwsre (Place)

), 299% (Ownership) © 3o (Time)

5. [Wtvd @=i6 e 955 79? (Which of the following is not fixed cost?)

© i5wite 995 (Cost of raw materials) (%) fas71 f&fims (Insurance premium)
@) o (Salary) @) g @l (Rent of the factory)
6. fRolw= Wetaa @mikvre & UEF? (Who is at the center of the marketing mix?)

@ arors (Agent) Q) siizzra (Wholesaler)

Q) Seoma (Producer) o ¢(ol@s| (Customer)

7. (FI0 FIFK Ired Fefesacaa (I8 79? (Which one of the following is not the characteristics of effective
segmentation?)

@ sifesrorcasy (Measurable) ) ey (Accessible)

@) setisica (Actionable) © SSacsy (Reliable)

8. (FHD #Ita Fese T % S&? (Which one of the following creates possession utility?)
@ sifaq= (Transportation) Q) FuNeesas (Warehousing)
@m-%@ﬁ (Buying-Selling) ®) Rrearsfe (Advertising)

9. 9% 3l (3131 COfATe AT AN 0% [IRAE Aeod (Fi6 My @RT? (Which one of the following means
product goods and services using the least amount of resources?)

@ sreifzel (Effectiveness) Q e (Efficiency)

@) frews el (Economical) @ %y waa (Proper Utilization)
10. HF @0 2iteng Somis 79? (Which one of the following is not an element of product?
@ @ (Quality) ) ez (Design)

Q g (Inventory) ® &3S 919 (Brand name)

11. TN GIRbt&ER4 (B Bld AT K@y &gfa F9Ce ATF? (At what stage is the product lifecycle do the sales
growth start to slowdown?)

@ o5 Sx3« (Product development) Q) 9641 (Introduction)
Q) &g (Growth) o ?°fol (Maturity)

12. dited (@I dreiaeedas WNEtd ©oimi" w5? (Which one of the following is not an element of the marketing
mix?)

@ ofeys (Product) @‘5]7[ (Place)
@ﬂfﬂ (Price) @W (Profit)

fRpeyiaT, Fo1efane @ fawl



11. Choose the correct synonym of 'Pertinent’.

@ Inappropriate ) Disturbed
@ Relevant @ Penetrate

12. Which one of the following pairs is similar in relationship to SAW: CARPENTER?

@ Painter : Color <) Agon : Farmer
@ Scissors : Barber @ Cloth : Tailor
ESIGIGEAD

1. S (GO TE@N b 0,000 BIFF HAYHIET® 1R HTIAF G TN T Fea= | AiAF [@@Ne 97 Torea || 2I?

Tasnu Traders mistakenly did not adjust the unearned service revenue of 80,000 BDT. What will be the
impact on the financial statements?

@ @y @R R 3@ (Income will be overstated) @) wrg T AL %[ (Liabilities will be understated)
Q) w5 & orar =@ (Liabilities will be overstated) &) srssl @& oraitl =6 (Profit will be overstated)

2. NRfE= 8 CIRAer QB0 WA FIATI Y0+ WA | SIS YA I0H AFATS ¢:% | Ol CNRTE /8 SLH YAP| IB(
FFIACH Tgsl ALAWIF AT &2 I | SIH TAFIF TG AFATS F67?

Mahrin and Mehnaz are two partners in a partnership business. Their profit-sharing ratio is 5:2. They admit
Sneha as a new partner with a 1/4 share in the profit distribution. What will be their new profit-sharing
ratio?

@ 0:5:5 (3:2:1) @) sa:v:¢ (15:6:5)

@) 51900 (9:6:3) © scuiq (15:638)

3. @6 fRefwe a1l erers 496? (Which of the following is deferred revenue expenditure?)
(@ <oy (Depreciation) @) St (Amortization)

© arafi w3w (Preliminary expense) ® wfaw eve 2= (Prepaid expense)

4. 956 T@es @ (W6 YIS Sifase UG 90,000 BIF| @32 b,000 GIF| J(E &F YA T AT 2T FO2?
(Net sales and gross profit are Tk.30,000 and 6,000 respectively. What is the rate of mark-up?)
@ 50.99% (16.67%) @ 20% (20%)

@ <% (25%) ® ©0% (30%)

5. a&b TFNCT FAYETs 0,000 BIF! | OF FRRTFT GITTDIE $0 IR QIR SARCHIT 75 ¢,000 GBI | I AT ANE oIafo

[ FAA b I SO AT F© 703?
(The purchasing cost of a machine is Tk. 60000. Its useful life is 10 years are salvage value is Tk. 5000. If

the sum of years digit method is used, what will be the amount of depreciation in eight year?)

@ v, va¢ 51 (Tk. 6,875) © o, 000 515 (Tk. 3,000)
@D ¢, co0 Bl (Tk.5500) ® 5,000 Bl (Tk. 2,000)

6. YGFHIS FICA (FIF TGU YT e A= AwFa i@ F403? (Which of the following inventory valuation
method generate the lowest income tax during inflation?)

(@ wtst @sCa et W 9%t (First-in, First-out Method) & coics sisiet =iest =9 o1%f% (Last-in, First-out Method)

@) oy om& e (Average Cost Method) @ SIY® U e (Weighted Average Cost
Method)



7. O30 FILF ATV RIFNTS 2t ool Aw=e il =61: (In a bank reconciliaiton, deposits in transit are:)

@ I304 (&9 (ATE F01 | (deducted from the book @) J24 (Od (91 ¥4 | (added to the book balance)
balance)
Q 371 BAIE s 641 | (added to the bank balance) @ [T (Gid (ATF F161 | (deducted from the bank
balance)

8. woI®d 4va wwie: (Conversion costs are the sum of:)

@ fa 93 s Soifzar Q srerw sgfa @3z TR S99 (direct labor and
(fixed and variable overhead costs) overhead costs)

() srerE SN Q92 T SART @&Wﬂ‘qﬁaﬁﬁ A Ngiw (direct labor and indirect
(direct material and overhead costs) labor costs)

9. WS TT F=oNfaa [fFe oTela T[T ¢,¢0,000 51 | AFESF TGW 2195 £,00,000 BIF I TN TG 9ef £,60,000
b1 | @IF© ATeNa Wes $9°? (RD Food Company's cost of goods sold is Tk. 5,50,000. Opening inventory is TK.
2,00,000 and closing inventory is Tk. 2,50,000. What is the price of the purchased product?)

@ ¢o00000 51 (Tk. 500000) (@) q¢0000 519 (Tk. 750000)
© vo0000 51 (TK.600000) @ ve0000 51l (Tk.650000)

10. @ <76 T ATE T AR Fiioa a1 2fes, ad <36 R e T4 23 | Ot Wb JATE S2F F| o] ATE?
(What is the effect on net income if an expense that was previously recorded as an asset is now
recognized as an expense?

@ 5 PEIbR iﬂ% 19 (increase net income) O =5 1=l 1 Yt (decrease net income)
@) e erora @2 (no effect) &) ffaer w1 T (cannot determine)

11. ST TEAF NN (&= 2717 3% F4 29?2 (Which account is closed through closing entries?

© =13 35119 (revenue account) @) 597 (asset)
(%) fao1dre 5= (contra asset) &) wry (liability)
12. fJordte 7w 519 (&9 $20919 (o1 &% F2? (What kind of balance does contra asset account express?)
@ =35 (debit) © &5 (credit)
@) (ofB @ (@b (debit and credit) @) cofab @ (=B (debit or credit)
[IAT AL 8 FIFIo]

1. 'SIHOA S WFICAGCND' (& #CAC=9? ('The practice of Management' is written by-)

© 57 @ goIa (Peter F. Drucker) @) zfazs 35aww (Herrington Emerson)
(D @=f& et (Henry Fayol) ® 9% ©fFS B3e7a (F. W. Taylor)

2. (Y YL [IAEE "G FAam' I =7 (&H0cE? (Which one is called the "Birth Cirtificate" of joint stock
businesses?)

© f<g= /@ (Memorandum of association) (@) a3 (Articles of association)
() se=f3fe (Certificate of incorporation) (®) Frefrarsa SIS 9@ (Certificate of commencement)

3. &= = sifsFdg=1? (Which one of the following is standing plan?)

@ arces (Budget) Q 3 (Policy)
() &% (Program) &) erwg (Project)



12. FToa (&9 siafod fasre [snafzel © snwd] Sons 7wl @r=iif4s (Under which of the following categories of

insurance both the insurer and insured are insurance companies?)

(® s5-fwl (Co-insurance) < 9«12 {51l (Re-insurance)
Q) g4-fas7 (Joint-Insurance) ® cor¥ o (Group insurance)



1. "GAEGREHR @ T g4l 9fde?

@ e ST %) SO T
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12. '@ FIKE T @ 9@ (%' 97 9T AR B |
@ wre ) w1
Q =5« @ g9
Berafer
1. Sally has been working here ——-
@ since six months o for six months
3D six months ago ® six months before time

2. She has lost her passport again, This Is the second time this —-

@ has happened <) happens

Q) happened @ is happening

3. What —— to get a new driving licence?

@ have | to do © do | have to do
3D | must do @ | have to

4.1'd better go now. | promised — late.

@ not being. @) Not to being

© to not be ® | wouldn't be

5. What the wise do in the beginning, fools do —— the end.

@ by @ at

Q in @ towards

6. Maliha is good tennis.

@ about © at

@ in @ of

7. The professor set some project work —— the end of the semester.

@ about Q at

@D of ®in

8. Stop doing wrong things lest you are caught.

@ would be caught @ will be caught
Q might be caught ® may be caught
9. The performance of our players was rather worst that | had expected.
@ bad as | had expected © worse than | had expected
(D worse than expectation ® worse than was expected

10. The correct spelling is:

) propoganda <) propagranda
Q propaganda ®@ popaganda



4. 9 4qC=d S Mg | (Minor is a type of partner.)

@ st (active) o 2% (limited)

@) e (idle) @) wreifds (natural)

5. 9FIt6 (W 43t7a wife? (Which type of asset is patent?)

@ w5 (Cash) @ vafS (current)

Q) Ffaw (Artificial) ¥ =97 (Intangible)

6. Y M&(RA [RIeA J<1f8s Jfgre=ss- (Which one is most appropriate in case of raising capital?)
@ a7 WFHE F7EE (Sole-proprietorship) @) wefmg @R (Partnership)

Q@ sixes @=R (Public limited company) ®) w5fes Wi F19a4 (Private limited company)

7. g [Rets smies s @=io? (Which of the following is the approximate time frame of industrial
revolution?)

@ sa¢o-sweo (1750-1850) @) yveo-v5¢0 (1850-1950)
@) vav0-5vo (1780-1880) @) $v%20-55%0 (1820-1920)

8. (@A Bib IS ALY FeIF (QfSTaQ™) TFIe! AR YA Fe VAT &1 2T 71? (What are the maximum
interval months between two annual general meetings of any company?)

@ so (v0) <, 5 (12)

© ¢ (15) ® v (18)

9. 57 @0 wFNEF= FIFITIF a8y T2 (Which of the following is not a charactristics of a sole
proprietorship?)

© S W (Limited liability) QF eri (Easy to form)

(D fafays sl (Restricted profit) @ wifecea ¢ fN@m@s (Full control by the owner)

10. FT63 (@ 43T oty @l A= Wwerd <iof Fid=e! (3 29?2 (Which type of leadership style give full
freedom to take decision to others?)

(@ stereifs (Democratic) € sy TS (Laissez-faire)
Q) c=geif@s (Autocratic) ® ®AYIYe1S (Transformational)

1. FefERewiE st @@ 3 sff@e Soms 952 (Which of the following is not a component of external
environment? )

@ afstf (Competitors) @ ergfés (Technology)
@) sz (Customers) © sz wighe (Organizational Culture)

12. (FI9 FIFI9+ Aife (Toted RFmFaed vevfze Ftd? (Which management principle encourages
decentralizatio leadership?)

@ s Q% (Unity of command) Q =g TS (Princile of flexibility)
() (orel-w3 fe (Scalar chain) @) g awwwaw (Delegation of Authority)
B IR @ oo

1. 9195 (TP TN AN AJ9© FRE 8 AT T F5130® AL AT 6 0 ?

(Which one of the following terms the difference between customer perceived benefits and what has
paid?)

@ (el H5es (Customer loyalty) @) (e w&ig (Customer satisfaction

Q (&l ©le] (Customer value) ® fJfesrs (Exchange)
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